A

F & F CIRCUIT
MUST OPEN BEFDRE
E 4 3 CIRCUIT

B & B CIRCUIT
MUST CLOSE BEFORE
F & F CIRCUIT

SCREW, WB-32 —‘II

— LEWVER, CHROME PLT

— HEX NUT, BRASE,
2 PL, 1 PLATED

—— LOCXWASHER

r— MOUNTING STEM, 3/4-16, BRASS

—— LOCKWASHER (4 RER'T}
HEX NUT, <4 REQDH

— "F* TERM, #10-32

LOCKWASHER (4 REG'DD

CasE

*B° TERM, 3/8-24, COFPER

=il

2330

3380

HEY MUT(4 REQ'TV

®L375

TERMINAL INSULATOR

B2.620

NOTE S
1. COPPER CONTACTS
2. ALL STEEL PARTS ATED
3. FOR USE WITH ALTERNATOR DR GEMERATOR SYSTEM
4, COWTINUOUS RATING &-12-24-35 WOLTS D.C

LARGE STUDS 175 AMPS

SMALL STUDS 20 AMPE

INTERMITTENT RATING &-12-24-3& WOLTS DL,

LARGE STUDS 1000 AMPS, 15 SECOMDE ON, 5 MINUTES OFF
S, TORGUE SPECIFICATIONS:

MOUNTING STEM HEX MUTS: 20 FT LES [27 Mml MaX

3787 TDP HEX MUTS ?D'\-‘BE b LES" CE-10 B.ml

W10 HEX NUTS 10=14 [N L LE M,
&, ALL DIMEMSIONS REFLRE'HLE OnLY

3

Revision Cantrol Record e omeitoin of P ags ECN Na | Cals | B G T r“,;.‘:—'ﬂ%"—'—u—,ﬁ— A TION e s el debes Cole Hersee Co.
niormali T Ceifiasl Chumsireatic, ralaing b 20 0 Cotony Ave., Boutn Beaber, s, 61T
™ Oracrtion af Changy Bchbn | Onle Zplacen  Lplaex Angur Ewrwm:r:gs‘:i:"l:nn i @nm-m Rugafutesy Compllancs B 1 2500 e o R
P | rebesveicaewsouems | 08800 | 1uevos [ rm-gra muﬂuln any ulm-., @= :lﬁ"u":};"nﬂ,'ﬁ""""‘ A | Desorigtion: sw"-c“' MASTER
R | accenwarr romscrvow | aast | 1o P | e Ganize Dirasios eirng e Fom - DISCONNECT
5 BN GG, 10162 | w00 e st e m-’"n‘l';m““c* o Heeaas Compasy dndiee the Customes | 0 wing [ et Rev,
e s oot [ on |3 [Py T or 7| Potes 75903 s
4 3 3 I 1 )




Ravislon Controi Record

“F & F* CIRCUIT . Danctipren of Changs oM o | Dais
MUST OPEN R | puroncan w0z | ezss
BEFORE “B & B”

CIRCULT

MNUT, HEX #i0-32, 4 REQD

OF | 7 ~
i B & B" CIRCUIT . -

| ggngELﬂFSE . LOCKWASHER, 4 REG'D 1|| oconsen 4 s

7 A ) :
‘ CIRCUIT MOUNTING STEM, BRASS, 3/4 1&—‘ |
o LOCKWASHER [~ HEX NUT, BRASS KUT, HEX 3/B-24, 4 REQ'D
HEX NUT, BRASS, FLATED
o Y
]

22650 [67.21)

—/
v7e0 119.2%)
e 3,380 [85:85]
NOTES: *
L ALL STEEL PARTS PLATED
- STHP P/N. AND. DATE CIDE 2, ALL DIMENSIONS REFERENCE
AT RANDON LOCATIONS 3 FOR USE WITH ALTERMATOR 0OR GENERATOR IYETEMS
4, RATINGS:

CONTINUOUS RATING

6-12-24-36 VOLTS IC,

LARGE ETUDS ¢’B* TERMINALS» 175 AMPE
SMALL STUDS (F* TERMINALS> 20 AMPE

INTERMITTENT RATING

E-]12-24-36 VOLTS DC,

LARGE STUDS (B* TERMINALS® 1000 AMPS
15 SEC *ON°, 5 WIN “OFF*

o DML et - Cole Hersee Co.
9 I R o i
—
g e | == S\, MASTER DISCONNECT
e
o
T NA_ [Pg.1of 1 75904




‘F & F* CIRCUIT

MUST OFEN

BEFORE “B & B’

CIRCULT

L "B & B CIRCUIT
MUST CLOSE
BEFORE “F & F”
CIRCUIT

oN

®0.250 [6.35]

0810 (20,57

®

STAMF P/N AND DATE CODE
AT RANDON LOCATIONS

RATINGS:

CONTINUDUS RATING
G=12=24=35 WIL
LARGE

15 1 [ prmeepre—sre———— o g e ey Eole Fi
it Ve 1mhacsy 175 awes(D T o e et FFE sen e
SMALL STUDS (F* TERMIMALSH 20 ANPS HEEEETD e © Tmum——— 2000 Goteny e Baath Batoc, W, 02127
INTERNITTENT RATING: R R e I - I [

6-12-24-36 VOLTS_IC, e | Dot b S e L A el SW, MASTER DISCONNECT
LARGE STUDS (‘B TERMINALSY: 1000 awPs (T) ShES I s @ SR

15 SEC “DN', 5 WIN “OFF* e o t— P — ”*w“.'.:_.ﬁ'.n'ﬁ_m.mm"* | Emame Gernm e,

(i |k el o=, wawan g Fgiofi| = 75904-01 u

0550 (13.97) |[

LOCKWASHER (4 REQTO

NUT, HEX, 3/4-16UNF-2B THD

LOCKWASHER

Y
SEE NOTE 2

0200 [2032]

j-——————— 2470 [8813] —————=|

. Daacription of 6 | |kcw [
R | #om=n T e |amanz |
[& [ rev Lo el amis
T [ rewdengandn © aBtia | osons
MUT, HEX  HI0-J2UNF {4 REG'DV U | AEWISEDMTO STEMBGIM  loress  |1ameny
LOCKWASHER (4 REQ'D)

NUT, HEX 3/B-24UNF (4§ REG'D:

|

|
|

HOTES:

L #ALL STEEL PARTS PLATED

2. O=RING SEALED AT BUSHING AND TERMINAL INSULATOR
AND HENCOL SEAL # 13 APPLIED TO CASE BUSHING
ARD PIN JOINTS

3. SILVER CONTACTS

4 ALL DIMEMSIONS REFERENCE

USE WITH ALTERKATOR OR GEMERATOR SYSTEMS

5. FOR
@ 6. SWITCH DESIGN TO MEET SAE JI45544.3

#2650 [67.31]




Revision Control Record
B Dapssiptien of Cangs EGH o, | Dty
WITHSTAME  |oziph | amenz

LOCATION
HEX €4 REQ'TH N BOM CHANGE e [anwia

RUT,

2 KEYS, RINGED

LOCKWASHER (4 REQ'TY

MTG STEM., 3/4-16UNF

TERMINAL, 1-32U8F, (2 REQDD

*F & F* CIRCUIT
HEX NUT, PLATED
LOCKWASHER €4 REQ'DD
LOCKWASHER
KT, HEX (4 REO'D)
TERMINAL, 3/B-24UNF, (2 RED'D)

MUST OPEN

CleotT - 3% B CRCuT

OFF BEFORE “F & F“
CIRCUIT

CASE
O
—
— 0230 (633
| #2630 (67,31
PP @300 [835.05]

& 0540 (13721 —= -

STAMP P/N AND DATE CODE NOTES:

AT RANDOM LOCATIONS —e— 1100 [27.54] |=— 1 aLL STEEL PARTS PLATED

2. ALL DIMENSIONS REFERENCE ONWLY
| - 3600 [91.44] 3. SILVER CONTACTS
4, FOR USE WITH ALTERNATOR OR
GENERATOR SYSTEMS

Ty e iy x| (UGB e i [ — Cole Hersee Co.
B iy el b et e o o ol Chaserie, kg M s 26 G Calumy Ave., Boeth Beatan, M, 02427
el B auen e e
R ST | e | B ET i, SWITCH, MASTER
b | e DISCONNECT
P e EEREEEETRCE o [T
Ursioe _lfr«1:1 I B [Pg.1 of 1 75904-02 N




©
@

orF
F & F CIRCUIT
OPEN BEFORE
B & B CIRCUIT

0812 (20641

MOUMTING STEM, 3/4-16

r—— w1250 [6.351

0270 [6.E61

[
L ] COMTINUDUS DUTY 300 AMPS
T —— 7 HEX WUT, 4 REQ'D F7 STUDS: 20 AMPS
T, ey ey | BRSNS, Ta e i Cole Hersee Co.
Q L e it e I S | o LI b My 58 814 Echany Ave., Souih Beaion, WA, G117
LDEX‘A‘AS"EP. 4 REQ'D mm::.“ i :D:Q-IU-IM“I“.NI-MI“ PR 617.248-2100 Waks wwern, colmherses.com
e e s % iy i @ Dasatgticn;
i | ST | o ey s
S S — R MASTER DISCONNECT SW
T—STUD, #10-32, 2PL : e~ s sy
L et fdeoy s A et Lt | Sopiag
e Barilin;
he EXESIOF [ 1] |sw- DPS [ panzas [Bme WA [Pg.1 of 1 75907 D

_ON
E & B CIRCUIT
CLOSED BEFORE
F & F CIRCUIT

LEVER

0350 [13.97]

MARK PART NUMBER &
DATE CODE OM THIE SURFACE

HEX MUT

TERMINAL

LOCKWASHER

casE
e
¥,

‘Ravision Control Recard
v, Duscroplian of Changs ECH Ho. [ Dute
B | BOMCHANGE W7 | gprrinn
INSULATOR —
HEX NUT, 4 REQ'D € | RELOCATED DATE CODE 2918z 2808
LOCKWASHER, 4 REGQ'D bl 1t e L i)
ETUD, 1/2-20, 2PL

f=———— 3385 [8598] ———==

S
—-'-J 1365 [3467]

B

1500 (38101

|-

1378

- (34931

= 02640 [67.06] ———|

NOTES:
1 ALL STEEL PARTS PLATED
2. ALL DIMENSIONS ARE REFERENCE OWLY
3. SEALS BETWEEM SHAFT & MOUNTING STEM
CASE & TERMINAL INSULATOR
TERMINAL [MSULATOR & 1/2-20 STUDE
4, RATIMNG 6, 12, 24, & 36 VOLTS DC
“E° STUDS: INTERMITTENT DUTY 2000 AMPS
30 SECONDS “OW’, 3 MINUTES -OFF <




Revision Control Record
Re Dancilpion of Change EChNe. | Dul
& | RELEASED BT (DWIL
WS 40 VDS, WIS INFO SR |BlNADE

PART" HUMBER. LUCATED ATIRANIUN HEX NUT, 3/8-24, BRASS, B PLACES

MOUNTING STEM, 3/4-16 LOCKWASHER, 8 PLACES
LEVER STUD, 3/8-24, 4 PLACES

HEX NUT
LOCKWASHER

i CASE

N
ATOAR B TOB
SEE NOTE 3

#2620 [66.54]

)

100 [25.40]

DATE CODE LOCATED AT RANDOM

0.55 013.97]1 r=— 2.0 (50211

NOTES:
1. CONTACT RATING: 125 AMPS CONTINUDUS, 750 INTERMITTENT
(15 SECONDS "ON", 5 MINUTES OFF) 12 TO 36 VDC (CARRY ONLY)
2. SILVER CONTACT SURFACES
3. A POLE AND B POLE ARE SEPERATE INSULATED POLES
4. OPERATING TEMPERATURE RANGE: -40° C THROUGH +85° C
5. O-RING SEAL @ MOUNTING STEM

6. GASKET SEAL @ TERMINAL INSULATOR | = J
7. HENCOL SEAL @ CASE, MOUNTING STEM & LOCATING PIN oo e e cole Horses Ea ]
8, MOUNTING TORQUE: 20 FT. LBS. (27 Nm) e i o —s e o S s _,:. i
9. STUD TORQUE: 4.42-7.37 FT. LBS, (6-10 Nm} e e e S - e
10. ALL STEEL PARTS ARE PLATED EEol O | R N |
11. ALL DIMENSIONS ARE FOR REFERENCE ONLY o g At R S s =l SSUSELINIINT | SW, MASTER DISCONNECT DPST
12. COMPATABLE WITH COLE HERSEE LOCKOUT KITS 24505 & -01, i e A e o s
LS et e P i s £ .} Cotrnal Awi,
Tl A T
FACE PLATE P/N 82065-02 & CABLE TERMINALS P/N 3168 o EX27801 |1 [ 0% i [ o0 Pad of 1 BE 75912 \ B




	75903
	75904
	75904-01
	75904-02
	75907
	75912

